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1 |deiEE 1.2E+2 121.2 121.2
2 |EHE 1.3E+0 1.8E+2 182.6 2.8E+0 2.8 185.4
3 |BEFE 6.5E+1 64.6 64.6
4 |EEE 11E+0| 1.1E+2 108.0 108.0
5 |[mEE 1.0E+1| 22E+2| 55E+3 5729.6 5,729.6
6 [ILZE 2.0E+0 20 2.0
7 |fRBE 37E+1| 1.1E+3 1,130.9 1.2E+1 12.1 1,143.0
8 |ZWE 6.6E+1| 7.2E+1 137.8 1.1E+1 11.0 148.8
9 |HAE 2.5E+1 24.6 24.6
10 [HER 8.6E+1 85.5 85.5
REEET! 1.1E+2 106.2 106.2
12 |FER 2.0E+2 201.6 201.6
13 |REHR 1.4E+3 1,445.2 1,445.2
14 |[#E)E 2.8E+1 27.6 1.7E+2 170.0 197.6
15 |#iRE 2.6E+1 26.1 26.1
16 |[EWE 1.0E+2 100.5 1005
17 |RINE 1.4E+2 139.3 139.3
18 |f&@HE 4.3E+1 432 432
19 |ILBE 1.2E+1 12.0 12.0
20 |REFHER 1.5E+1 14.5 14.5
21 |IKEBR 1.0E+2 101.7 101.7
22 |E&mER 8.2E+1 81.5 81.5
23 |BHIR 1.6E+2[ 1.7E+2 330.4 2.2E+4 22,100.0 22,430.4
24 |ZER 1.2E+2 6.2E+0 126.2 4.0E+0 40 130.2
25 |#HER 1.2E+1 11.5 11.5
26 |REAT 2.3E+3| 5.3E+1 2,352.8 4.2E+3 4,200.0 6,552.8
27 | KBRAF 1.0E+1 10.0 10.0
28 |EER 2.0E-1| 5.9E+ 58.8 3.5E+3 3,500.0 3,558.8
29 |ERR 5.2E+0 5.2 5.2
30 |FOERILE 1.7E+1 171 17.1
31 |BIE 2.3E+0 2.3 2.3
32 |BRE 1.1E+1 10.9 10.9
33 |EWLE 14E+1| 3.1E+2 323.6 1.9E+3 1,900.0 2,223.6
34 |[LER 24E+2 2.8E+3 3,040.8 3,040.8
35 |ILOg 1.6E+0 1.6 1.6
36 |fESR 7.0E+0 7.0 7.0
37 |BNE 38E+1| 3.4E+2 378.6 378.6
38 |BER 1.3E+2 3.6E+1 163.0 163.0
39 |E58 2.4E+1 24.4 1.0E-1 0.1 245
40 |fERR 1.4E+2 1413 3.7E+1 37.0 178.3
41 |*EER 6.5E+1 64.5 64.5
42 |RBE 3.3E+1 32.9 32.9
43 |RERR 4. 6E+1 46.0 46.0
44 | KHR 5.0E-1| 3.6E+2 357.3 357.3
45 |FIFER 2.6E+0| 6.6E+1 68.5 3.6E+3 3,600.0 3,668.5
46 |EBESER 1.3E+1 12.6 12.6
47 | HEER 5.0E+0 5.0 5.0
£ H 28E+3| 64E+3] 83E+3 17,466.5 3.6E+4 35,549.0 53,0155
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